ZMRIEDNFE HE 4 FEEE K4

1. B OEEDR 13 & OWiE 77 % RORRE XK.

T3 ks g eon THes R AF, RO RENT
. U

o J TR A N
Ty X é B/\ c éP
\LC
A
£ £ | 20 l , | y |
&
O ¢ b RS s
P ¥
‘- 29‘ ~
9Z M= —2bQ + Vpx2l =0 24 - - -
j.\/p:l?
ISV- ezt M
~'<VC=F
—
@ ACFﬁEl[z?\A'L . . %KBSL=3F
| 2 V(= P
R N | pen
! 1 A 7
o ve . Va Ve
C vy > i

5ZAM = ~3Px%!lr\/p;2,Q - Px3f =0

- VB: F_'}-F
LZV = -V <3P -vg«P =0
: i
2. V,L\: “ZFYI
T dk@mh e Hwy
(1) ABWI (oex<28) axt.
Y x
RS N S :
,\EL & \}h 4 .:M=—Eg'x T
< ~ — P -
JZV= ~+g%t@=0
S-Q0= “LP"%% 59 A 97°¢

M= M+ T vk = o

CHUBEDOEZZIECEFNTLEIWV(ER).

2.HYEBIZA AL MBHIITEAIZENTL ZEW, BliZR 2 EEAN T FEn.
3. T E— A U b ERHAM I DBBRICONTERMNZZ & BZEX R &,
M

ox T QT g




~

(2 Re M (22 «x <30 ) ax®E.

? Q- £ (30-%)
&* '
"1 LUTV ey
3% -% > _ [ %) F -0
1TV = —Q <« FOx) ¢
Q- k-

= (32-%)
329(/./\ = -M - &(312'9() x5

Py
M = —29(3.Q°<

- {71(39—9() =

)’ —P(a-x)

2 15
SR a2

G)epm (3acex <80) =% )
% Yy (38-%) JZV = -@ + g (sa-x) -V =
m & @ e ,
v ” b (52-%) -
Tax (522 T M = -M - gL <5~ 4 v« (5p-0) = 0
- 2
_ X (50~
M= -z5 (R x) « pPGR-X)
A R L
e w20 (FRTEED SESl
N%v@wm i 1= X 8 bk o7 E 0P S
L e " . .:‘%? NP
® @ m%?%‘if; ) /'; 2} w3\ :)\Pfgﬁﬁl"’g il ;ga %‘g‘* RN D M/M”j//f
) Xe=d aes 18, O 4P e ‘
m? Ke 2 porl 1-"«5‘» B = 4;? ~f {a ]

b .

| ('ﬁﬁﬁ”ggm R4z hade

Q l nfif v wm,@&éi@ h (m?%%“%”% o XEE e Lelrd i e op- 1 20 “';fP
Vi = LS’? k“?

R

{s@{x

,Mw%ls? S ElaE3 . SR ANt

Gy Fe ™ faes b d17ap

G 59008 s e PR
Gy ABa 0Cx<R 2T
/V\ ME ’X ot '47{
N Oy
28

%

' AN




